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narjmWu H$moS >H$mo CÎma-nwpñVH$m Ho$ _wI-n¥ð >na 
Adí` {bIo§ & 
Candidates must write the Code on the 

title page of the answer-book. 

 

 Series JMS  H$moS> Z§.      

 Code No. 

amob Z§. 
Roll No. 

   
 

 

 

g§ñH¥$V_²  
SANSKRIT 

Ad{Y… : hmoamÌ`_²    nyUm©‘>m… : 80 

{ZYm©[aV g_` : 3 KÊQ>o    A{YH$V_ A§H$ : 80 

Time allowed : 3 hours Maximum Marks : 80 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 19 h¢ & 

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥>ð> na {bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >16 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 

 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©† _| 
10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a 
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 19 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 16 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minute time has been allotted to read this question paper. The question 
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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IÊS>… H$ : An{R>Vm§e-Ad~moYZ_² (An{R>Vm§e-Ad~moYZ)   10 A‘>m… 

SECTION A : Unseen Reading Comprehension 

IÊS>… I : aMZmË_H$H$m`©_² (aMZmË_H$-H$m`©)  15 A‘>m… 

SECTION B : Writing Skills 

IÊS>… J : AZwà`wŠVì`mH$aU_² (AZwà`wº$ ì`mH$aU) 25 A‘>m…   

SECTION C : Applied Grammar 

IÊS>… K : n{R>V-Ad~moYZ_² (n{R>V-Ad~moYZ)  30 A‘>m… 

SECTION D : Reading Comprehension 

 

{ZX}em… : 
Instructions : 

(i) Apñ_Z² àíZnÌo MËdma… IÊS>m… gpÝV & 
 Bg àíZ-nÌ _| Mma IÊS> h¢ & 
 The question paper has four sections. 

(ii) àË`oH§$ IÊS>_² A{YH¥$Ë` CÎmam{U EH$pñ_Z² ñWmZo H«$_oU boIZr`m{Z & 
 àË`oH$ IÊS> Ho$ CÎma EH$ hr OJh na H«$_ go {bIZo hm|Jo & 
 The answers to each section must be written at one place. 

(iii) àíZg§»`m àíZnÌmZwgma_² Adí`_od boIZr`m & 
 àíZ-nÌ Ho$ AZwgma àíZ-g§»`m Adí` hr {bIZr hmoJr & 
 Write the question number according to the question paper. 

(iv) gd}fm§ àíZmZm_² CÎmam{U g§ñH¥$VoZ boIZr`m{Z & 
 g^r àíZm| Ho$ CÎma g§ñH¥$V _| {b{IE & 
 Answer all the questions in Sanskrit. 
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IÊS…> H$ (SECTION A) 

An{R>Vm§e-Ad~moYZ_² (An{R>Vm§e-Ad~moYZ) 

 Unseen Reading Comprehension             10 A‘>m… 

1. AYmo{b{IV_² AZwÀN>oX§ n{R>Ëdm àXÎmàíZmZm_² CÎmam{U g§ñH¥$VoZ {bIV & 

 {ZåZ{b{IV AZwÀN>oX H$mo n‹T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| {b{IE & 

 Read the following prose passage and write the answer of the given 

questions in Sanskrit.  

           {ejm _mZd-{dH$mgñ` na_§ gmYZ_² & {ejm kmZmoX`oZ Z¡{VH§$ Mm[a{ÌH$§ M 
{dH$mg§ g§nmX`{V & {ejm gm§ñH¥${VH$s¨ ÑpîQ>_² CX²~moY`{V & dV©_mZ-{ejm-nÕVm¡ ~mbH$ñ` 
gdm©“rU-{dH$mgñ` n[aH$ënZm ApñV & AYwZm ~mbm: AmYw{ZH$ {df`mZ² A{n AÜ òVw§ 
g§ào[aVm: Ñí`ÝVo & `Wm {h {dkmZ_², J{UV_², ^yJmob_², B{Vhmg_², AW©emñÌ_², 
amOZr{VemñÌ_², g§JrV_², g§JUH$`ÝÌ_² (computer) AmX`: & dV©_mZ-{ejm-nÕVm¡ 
{e{jVm: `wdH$m: `wdË`íM H${R>Z§ l_§ H¥$Ëdm ñd-ñd joÌo _hÎdnyU©_² gm\$ë`§ àmßVdÝV: & 
AVEd {ejm l_ñ` _hÎd_{n {ej`{V & {e{jVm: `wdH$m: _mZdr`JwUmZ² à{V AmH${f©Vm: 
^dpÝV & Añ_mH§$ Xoeo {ejm àmßË`¡ H$mo@{n ~mb: H$m{n ~mbm d AWm©^md§ Z AZw^doV² B{V 
emgZ§ à`VoV & `V: {ejm Z Ho$db§ _mZdH$ë`mUm` Ano{jVm A{nVw gm amîQ´>Jm¡adm` A{n 
_hÎdnyUm© &  

 

 àíZm… 

 (A) EH$nXoZ CÎmaV & (Ho$db§ àíZMVwîQ>`_²)  

  EH$ eãX _| CÎma Xr{OE & (Ho$db Mma àíZ) 

  Answer in one word. (Only four questions) 
2

1
 4=2 

(i) {ejm H$ñ` _hÎd§ {ej`{V ?  

(ii) _mZd-{dH$mgñ` na_§ gmYZ§ {H$_² ? 

(iii) {ejm H$sÑet ÑpîQ>_² CX²~moY`{V ? 

(iv) {e{jVm: ẁdH$m: H$mZ² JwUmZ² à{V AmH${f©Vm: ^dpÝV ? 

(v) ~mbH$ñ` gdm©“rU{dH$mgñ` Hw$Ì n[aH$ënZm ApñV ?  



52 4 

(~)  nyU©dmŠ`oZ CÎmaV & (Ho$db§ àíZÛ`_²) 

 nyU© dmŠ` _| CÎma Xr{OE & (Ho$db Xmo àíZ) 
Answer in a complete sentence. (Only two questions)  1 2=2 

(i) {ejm H$sÑe§ {dH$mg§ g§nmX`{V ?   
(ii) emgZ§ qH$ à`VoV ?  

(iii) dV©_mZ-{ejm-nÕVm¡ ~mbH$: H$mZ² {df`mZ² A{n {ejoV ?   

(g) `Wm{ZX}e_² CÎmaV & (Ho$db§ àíZMVwîQ>`_²) 
{ZX}emZwgma CÎma Xr{OE & (Ho$db Mma àíZ)  

 Answer according to instructions. (Only four questions)  1 4=4  

(H$) ‘ApñV’ B{V {H«$`mnXñ` H$V¥©nX§ {H$_ ² ?  
(i) {ejm   
(ii) n[aH$ënZm   
(iii) ~mbH$:   

(I) ‘{e{jVm:’ B{V {deofUnXñ` {deoî`nX§ {H$_² à`wŠV_² ? 
(i) ~mbH$m: 
(ii) `wdH$m:  
(iii) àoaH$m:  

(J) ‘gm amîQ´>Jm¡adm` A{n _hÎdnyUm©’ B{V dmŠ`o ‘gm’ B{V gd©Zm_nX§ H$ñ`¡ 
à`wŠV_² ? 
(i) ~mbm`¡   
(ii) {ejm`¡    
(iii) `wdË`¡   

(K) ‘CÚ_:’ BË`W} qH$ n`m©`nX_ ² AÌ à`wŠV_² ? 
(i) {dH$mg_²  
(ii) l_:  
(iii) Mm[a{ÌH$_²   

(L>) ‘gab_²’ BË`ñ` qH$ {dbmo_nX_² AÌ à`wŠV_² ? 
(i) ÑpîQ>_² 

(ii) {dH$mg_²  

(iii) H${R>Z_²  

(X) Añ` AZwÀN>oXñ` H¥$Vo Cn`wº§$ erf©H§$ g§ñH¥$VoZ {bIV & 
 Bg AZwÀN>oX Ho$ {bE Cn ẁº$ erf©H$ g§ñH¥$V _| {b{IE & 
 Write the appropriate title for this passage in Sanskrit. 2 
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IÊS…> I (SECTION B) 

aMZmË_H$H$m`©_² (aMZmË_H$-H$m`©) 

 Writing Skills 15 A‘>m… 

2. {_Ì§ à{V AYmo{b{IV§ nÌ§ _ÄOyfmàXÎmeãX¡… nya{`Ëdm nwZ: {bIV & 

 {_Ì H$mo {bIo JE {ZåZ{b{IV nÌ H$mo _ÄOyfm _| {XE JE eãXm| H$s ghm`Vm go nyU© H$a nwZ: 
{b{IE &  

 Complete the following letter, written to your friend, with the help of the 

words given in the box and rewrite the same. 
2

1
 10=5 

 

        H$mdoarN>mÌmdmgmV²  

 {XZm‘>: ____________ 
{à` {_Ì _mYd,  

 (i) _________________ & 

  AÌ Hw$eb§ VÌmñVw & Ah§ (ii) ___________ gÁOm`m§ ì`ñV: Amg_² & 
AV: {dbå~oZ Vd nÌñ` CÎma§ XXm{_ & Apñ_Z² df} _`m{n JUVÝÌ{Xdgñ` 
emo^m`mÌm`m§ ^mJ: (iii) ___________ & Añ_mH§$ {dÚmb`ñ` N>mÌm: amOnWo  

(iv) ___________  àXe©Z_² AHw$d©Z² & Ah§ Ja~mZ¥Ë`ñ` (v) ____________ 

Amg_² & N>mÌmUm§ amîQ´>JmZñ` AmoOñdr Üd{Z: (vi) _____________ Jw{ÄOV_² 
AH$amoV² & ñdamîQ´>ñ` g¡Ý`~bmZm§ namH«$_àXe©Zm{Z, {d{MÌdUm©{Z n[aÑí`m{Z,  

(vii) ______________ M ÑîQ²>dm Ah§ Jm¡admpÝV: Apñ_ & (viii) ____________   

~më`mdñWm`m: ñdßZ: VÌ nyU©: OmV: &  (ix) ______________ dÝXZr`m¡ & 

      ^dV: 

 (x) ______________ _hoe: & 

_ÄOyfm 

 

J¥hrV:, {nVam¡, Z_ñVo, __, {_Ì_², amOnW_², bmoH$Z¥Ë`ñ`, bmoH$Z¥Ë`m{Z, 
JUVÝÌ{Xdgg_mamohñ`, à_wIgÄMmbH$: & 
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3. AY: àXÎm§ {MÌ§ ÑîQ²>dm _ÄOyfm`m§ àXÎmeãXmZm§ gmhmæ òZ nÄM dmŠ`m{Z g§ñH¥$VoZ {bIV & 

 ZrMo {XE JE {MÌ H$m dU©Z _ÄOyfm _| {XE JE eãXm| H$s ghm`Vm go nm±M g§ñH¥$V dmŠ`m| _| 
H$s{OE & 

 Describe the following picture in five Sanskrit sentences with the help of 

the words given in the box below. 2 5=10  

 
 

_ÄOyfm 

 
AWdm  (OR) 

 _ÄOyfmàXÎmeãXmZm§ gmhmæ òZ {ZåZ{b{IV§ {df`_² A{YH¥$Ë` nÄM{^: g§ñH¥$VdmŠ`¡: EH$_² 
AZwÀN>oX§ {bIV &  

 _ÄOyfm _| {XE JE eãXm| H$s ghm`Vm go {ZåZ{b{IV {df` na nm±M g§ñH¥$V dmŠ`m| _| EH$ 
AZwÀN>oX {b{IE & 

 Write a paragraph in five Sanskrit sentences on the following topic with 

the help of the words given in the box. 2 5=10 

  ‘‘ñdÀN>Vm`m: _hÎd_²’’ 

_ÄOyfm 

 

 

ñdÀN>_², ñdÀN>Vm`m:, eara_², CÔoí`_ ², Cn`mo{JVm, ñWmZ_², ñdmñÏ`ajm`¡, dñÌm{XH$_², 
Ob_², ImÚdñVy{Z, _Z{g àgÞVm, g_mOo gå_mZ_², gd©Xm, H$V©ì`_² &  

d¥jm: , H«$sS>mdZ_², AY:, ~mbH$m:, Xmobm, gpÝV, _mVm, nwÌ:, Cn[a, OZm:, H«$sS>pÝV, 
~m{bH$m:, N>Ì_², Amê$T>m:, ZrM¡:, Am`mpÝV &  
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IÊS…> J (SECTION C) 
AZwà`wŠVì`mH$aU_² (AZwà`wº$ ì`mH$aU) 

 Applied Grammar 25 A‘>m… 

4. AYmo{b{IVdmŠ`ofw aoIm{‘>VnXofw gpÝY¨ gpÝYÀN>oX§ dm H¥$Ëdm {bIV & (Ho$db§ àíZMVwîQ>`_²) 
 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nXm| _| gpÝY AWdm gpÝY-{dÀN>oX H$aHo$ {b{IE &  

                                                                    (Ho$db Mma àíZ) 
 Write the underlined words of the following sentences after joining or 

disjoining Sandhi’s. (Only four questions)  1 4=4  

(i) BX§ {demb§ ^mo + AZ_² ApñV & 

(ii) OJV² + ZmW: gdm©Z² aj{V &  

(iii) h[a_² + dÝXo & 

(iv) àË`oH$_² A`Zñ` Ad{Y: fÊ_mgm: & 

(v) EH$Xm nmÊS>dmJ«O: ẁ{Y{ð>a: dZo OJm_ & 

5. AYmo{b{IVdmŠ`ofw aoIm{‘>VnXmZm§ g_mg§ {dJ«h§ dm àXÎm{dH$ënoä`… {MËdm {bIV &  
                                                                (Ho$db§ àíZMVwîQ>`_²) 

 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nXm| H$m g_mg AWdm {dJ«h {XE JE {dH$ënm| _| go MwZH$a 
{b{IE & (Ho$db Mma àíZ) 

 Choose and write the correct compounded or expounded forms of the 

underlined words in the following sentences. (Only four questions)  1 4=4  

(H$) nmUr M nmXm¡ M àjmë` ^moOZ§ Hw$é &   

(i) nm{UnmXm¡   

(ii)  nm{UnmX_²  

(iii) nmUrnmX_² & 

(I) CnJ“_² A`§ Kmof: emo^Vo &  

(i) J“m`m: Xÿa_²  

(ii)  J“m`m_² Ed 

(iii) J“m`m: g_rn_²  
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(J) gma{W: AdXV² A`_² nrV_² Aå~a_² `ñ` g: {VîR>{V &  

(i) nrVmå~a:  

(ii)  nrVmå~a_² 

(iii) nrVmå~am &  

(K) d`§ {Z{d©¿Z§ Ordm_: & 

(i) {d¿ZoZ A^md:  

(ii)  {d¿ZmZm_² A^md: 

(iii) {d¿ZmV² A^md: &  

(L>) AZ¥V§ Z ~«y`mV² & 

(i) G$V§ {dZm   

(ii)  G$VoZ gh  

(iii) Z G$V_² & 

6. AYmo{b{IVdmŠ`ofw aoIm{‘>VnXmZm§ àH¥${V-àË``m¡ g§`moÁ` {d^Á` dm C{MV_² CÎma§ 
{dH$ënoä`: {MËdm {bIV & (Ho$db§ àíZMVwîQ>`_²) 

 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nXm| _| àH¥${V-àË``m| H$mo Omo‹S>H$a `m n¥WH²$ H$aHo$ C{MV 
CÎma {dH$ënm| _| go MwZH$a {b{IE & (Ho$db Mma àíZ) 

 Write the underlined words of the following sentences after joining or 

disjoining suffixes to roots or words, selecting the correct answer from the 

options given below. (Only four questions) 1 4=4  

(H$) erVm{YŠ òZ H$ån² + emZM² ZV©H$s g^mJma§ JÀN>{V &   

(i) H$ån_mZ:  

(ii)  H$ån_mZm  

(iii) H$ånm`_mZm & 

(I) OZmZm_² bm¡{H$H$: ì`dhma: A{n AX²^wV: ^d{V &  

(i) bm¡H$ + R>H$²  

(ii)  bmoH$ + R>H$² 

(iii) bmoH$ + _Vwn² & 
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(J) ~m{bH$m{^: amîQ´>JrV§ J¡ + Vì`V² &   
(i) JrVì`_² 
(ii)  JmVì`_²   
(iii) JmVì`: & 

(K) ñdU©ñ` _hV² + Ëd gd} ñdrHw$d©pÝV &   
(i) _hVm_ ² 
(ii)  _hÎd_²  
(iii) _hËd & 

(L>) Xr{nH$m {H«$Ho$Q>-H«$sS>m`m_² Hw$eb + Q>mn² ApñV &   
(i) Hw$ebm   
(ii)  Hw$ebr   
(iii) Hw$e{bZr & 

7. _ÄOyfm`m§ àXÎm¡: nX¡: dmÀ`n[adV©Z§ H¥$Ëdm AYmo{b{IV§ g§dmX§ nwZ: {bIV & 
 _ÄOyfm _| {XE JE eãXm| H$s ghm`Vm go dmÀ` n[adV©Z H$aVo hþE {ZåZ{b{IV g§dmX H$mo 

nwZ: {b{IE & 
 Re-write the following dialogue changing the voice with the help of  words 

given in the box.  13=3  

 AéU: — a_o ! qH$ Ëd§ àmV: nÄMdmXZo C{ÎmîR>{g ?  

 a_m — Am_² ! _`m àmV: nÄMdmXZo (i) ____________ &  
 AéU: — qH$ Ëd_² dm{Q>H$m§ {gÄM{g ?  

 a_m — Am_² ! (ii) ___________ dm{Q>H$m {gÀ`Vo &  
 AéU: — qH$ gwYm {dÚmb §̀ JÀN>{V ?  

 a_m — Am_² ! gwY`m (iii) ____________ Jå`Vo &  

_ÄOyfm 

               

AWdm  (OR) 

 AYmo{b{IVmZm§ dmŠ`mZm§ dmÀ`n[adV©Z§ Hw$éV & 
 {ZåZ{b{IV dmŠ`m| _| dmÀ`-n[adV©Z H$s{OE & 

 Change the voice in the following sentences. 13=3 

(H$) bVm nmR>§ nR>{V &  
(I) {ejHo$Z boI: {b»`Vo &  
(J) godH$: godm_² H$amo{V &  

{dÚmb`_²,  CËWr`Vo,  _`m & 
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8. AYmo{b{IV{XZM`m©`m§ [aº$ñWmZm{Z H$mb~moYH$eãX¡: nya`V & (Ho$db§ àíZMVwîQ>`_²) 

 {ZåZ{b{IV {XZM`m© _| [aº$ ñWmZm| H$s ny{V© H$mb~moYH$ eãXm| go H$s{OE &  
                                                               (Ho$db Mma àíZ)  

 Re-write the daily routine using words in place of figures.  

                                                                            (Only four questions)  
2

1
 4=2  

(H$) Ah§ àmV:H$mbo _________ dmXZo gwßËdm C{ÎmîR>m{_ &  
                                    5:00  

(I) _________ dmXZo {ZË`{H«$`m§ gånmX`m{_ &  
                5:30 

(J) _________ dmXZ§ `mdV² `moJmä`mg§ H$amo{_ &  
     5:45  

(K) _________ dmXZo Aënmhma§ ñdrH$amo{_ &  
                6:15 

(L>) Ah§ {dÚmb §̀ _________ dmXZo JÀN>m{_ &  
                 7:00 

9. AYmo{b{IVdmŠ`ofw [aŠVñWmZm{Z _ÄOyfmàXÎm¡: C{MV¡: Aì``nX¡: nya`V &  
                                                           (Ho$db§ àíZMVwîQ>`_²)  

 {ZåZ{b{IV dmŠ`m| _| [aº$ ñWmZm| H$s ny{V© _ÄOyfm _| {XE JE Aì`` nXm| Ho$ Ûmam H$s{OE &   
                                                                    (Ho$db Mma àíZ) 

 Fill in the blanks in the following sentences with appropriate 

indeclinable words given in the box. (Only  four questions)  14=4  

(H$) B©ída: ___________ ì`mnH$: ApñV &    

(I) ~mbH$m: _________ nmXH$ÝXþHo$Z H«$sS>pÝV &   

(J) CÚmZo ___________ nwînm{U gpÝV, VÌ ^«_am: JwÄOpÝV &   

(K) _pÝXañ` __________ ñdU©H$be: ñWm{nVmo@pñV &   

(L>) Ëd_² BXmZr_² ___________ AmJÀN>{g ? 

_ÄOyfm 

               Cn[a, AÌ, Hw$V:, gd©Ì, `Ì 
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10. AYmo{b{IVdmŠ`ofw aoIm{‘>VnX_² AewÕ_² ApñV & AewÕ§ nX§ g§emoÜ` nwZ: {bIV &  
                                                                (Ho$db§ àíZMVwîQ>`_²)  

 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nX AewÕ h¡ & AewÕ nX H$mo g§emo{YV H$a nwZ: {b{IE &   
                                                                    (Ho$db Mma àíZ) 

 Correct the underlined incorrect words in the following sentences.  

                                                                                  (Only  four questions)   1 4=4  

(H$) ~mbH$m¡ nmR>§ nR>{V &     

(I) Ëd_² J«m_§ JÀN>{V &    

(J) d¥jmV² \$bm: nVpÝV &    

(K) H${d: h²`: H${dVm§ n{R>î`{V &    

(L>) ~m{bH$m H$ÝXþH$: H«$s{S>î`{V &  

IÊS…> K (SECTION D) 

n{R>V-Ad~moYZ_² (n{R>V-Ad~moYZ) 

 Reading Comprehension 30 A‘>m… 
11. AYmo{b{IV§ JÚm§e§ n{R>Ëdm àXÎmàíZmZm_² CÎmam{U g§ñH¥$VoZ {bIV & 
 {ZåZ{b{IV JÚm§e H$mo n‹T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| {b{IE & 

 Read the following prose passage and answer the given questions in 

Sanskrit.  6  

         naewam_Hw$ÊS>§ Vw bmo{hVZÚm: {H${ÄMX² Xÿao ApñV & nyd©_² BX§ ~«÷Hw$ÊS>_²  
AmgrV² & BX§ bmo{hVZÚm: CX²J_ñWb_² B{V _Ý`Vo & AÌ AZoH$m{Z Xe©Zr`m{Z ñWbm{Z A{n 

gpÝV & Añ_mH§$ n`©Q>Z{d^mJoZ àH$m{eVm§ Ho$fm{ÄMV² à{gÕñWbmZm§ gyMt n{R>Ëdm km`Vm_² 
B_m{Z n`©Q>ZñWbm{Z & EVofm§ Xe©Zm` gånyUm© ì`dñWm dV©Vo & H$m`©H«$_ñVw gw{ZpíMV: & 

ObnmZmX² AZÝVa§ J{_î`m_: &  

(A) EH$nXoZ CÎmaV & (Ho$db§ àíZÛ`_²) 

EH$ eãX _| CÎma Xr{OE & (Ho$db Xmo àíZ)  

 Answer in one word. (Only two questions) 1 2=2  

(H$) ‘~«÷Hw$ÊS>_²’ H$ñ`m: CX²J_ñWb§ _Ý`Vo ?   

(I) H$ñVmdV² gw{ZpíMV: dV©Vo ? 

(J) naewam_Hw$ÊS>§ nydª {H$_² AmgrV² ? 
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(~) nyU©dmŠ`oZ CÎmaV & (Ho$db § àíZ_oH$_²) 
nyU©dmŠ` _| CÎma Xr{OE & (Ho$db EH$ àíZ)  

 Answer in a complete sentence. (Only one question)  2 1=2  

(H$) Ho$fm§ Xe©Zm` gånyUm© ì`dñWm dV©Vo ?    

(I) à{gÕñWbmZm§ gyMr Ho$Z {d^mJoZ àH$m{eVm ?  

 

(g) àXÎm{dH$ënoä`: C{MV_² CÎma§ {MËdm {bIV & (Ho$db§ àíZMVwîQ>`_²) 

{XE JE {dH$ënm| _| go C{MV CÎma MwZH$a {b{IE & (Ho$db Mma àíZ) 

 Choose  and  write  the appropriate answer from the given  

options. (Only four questions) 
2

1
 4=2  

 (H$) ‘‘ì`dñWm’’ B{V H$V©¥nXñ` qH$ {H«$`mnX§ JÚm§eo à`wº$_² ?   

 (i) AmgrV²   

 (ii)  dV©Vo   

 (iii) _Ý`Vo  

 (I) ‘‘EVofm_²’’ B{V gd©Zm_nX§ Ho$ä`: à`wº$_² ?   

 (i) n`©Q>ZñWboä`:   

 (ii)  CX²J_ñWboä`:   

 (iii) Hw$ÊS>oä`:  

 (J) ‘‘AZoH$m{Z’’ B{V nX§ H$ñ` nXñ` {deofU_² ?   

 (i) ~«÷Hw$ÊS>_²   

 (ii)  ñWbm{Z    

 (iii) EVofm_²  
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 (K) ‘níMmV²’ BË`W} qH$ g_mZmW©H§$ nX§ à ẁº$_² ?    

 (i) gw{ZpíMV:    

 (ii)  ì`dñWm    

 (iii) AZÝVa_²    

 (L>) ‘g_rno’ B{V nXñ` {dbmo_nX§ qH$ à ẁº$_² ?    

 (i) Xÿao    

 (ii)  AÌ   

 (iii) nyd]    

 

12. AYmo{b{IV§ nÚ§ n{R>Ëdm àXÎmàíZmZm_² CÎmam{U g§ñH¥$VoZ {bIV & 

 {ZåZ{b{IV nÚ H$mo n‹T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| {b{IE & 

 Read the following poetry passage and answer the given questions in 

Sanskrit.  6 

nm{nZmÄM gXm Xþ:I§, gwI§ d¡ nwÊ`H$_©Um_² & 

Ed§ pñWaVa§ kmËdm gmYwd¥qÎm g_mMaoV² && 

 

(A) EH$nXoZ CÎmaV & (Ho$db§ àíZÛ`_²) 

EH$ eãX _| CÎma Xr{OE & (Ho$db Xmo àíZ)  

 Answer in one word. (Only two questions)  1 2=2  

(H$) nm{nZmÄM gXm qH$ ^d{V ?   

(I) Ho$fm§ gwI§ ^d{V ? 

(J) OrdZo H$m§ g_mMaoV² ? 
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(~) nyU©dmŠ`oZ CÎmaV & (Ho$db§ àíZ_oH$_²) 

nyU©dmŠ` _| CÎma Xr{OE & (Ho$db EH$ àíZ)  

 Answer in a complete sentence. (Only one question)  2 1=2  

(H$) ‘nm{nZm§ gXm Xþ:I§ ^d{V’ B{V kmËdm _mZd: H$sÑe_² AmMaU§ Hw$`m©V² ?    

(I) OZ¡: pñWaVa§ qH$ kmVì`_² ?  

 

(g) àXÎm{dH$ënoä`: C{MV_² CÎma§ {MËdm {bIV & (Ho$db§ àíZMVwîQ>`_²) 
{XE JE {dH$ënm| _| go C{MV CÎma MwZH$a {b{IE & (Ho$db Mma àíZ)  

 Choose  and  write  the appropriate answer from the given  

options. (Only four questions)  
2

1
 4=2  

 (H$) ‘gwI_²’ BË`ñ` {dbmo_nX§ qH$ à`wº$_² ?   

 (i) nwÊ`_²   

 (ii)  Xþ:I_²   

 (iii) YZ_²    

 (I) ‘H$_©Um_²’ BË`ñ` {deofU§ {H$_² ?   

 (i) d¡    

 (ii)  Ed§   

 (iii) ‘nwÊ`’ B{V   

 (J) ‘g_mMaoV²’ B{V {H«$`mnXñ` H$V¥©nX§ {H$_² ?   

 (i) _mZd:   

 (ii)  {eew:    

 (iii) d¥Õ:   
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 (K) ‘gd©Xm’ B{V nXñ` n`m©`nX§ {H$_² à`wº$_² ?    

 (i) d¡     

 (ii)  Ed_²   

 (iii) gXm   

 

 (L>) ‘nwÊ`H$_©Um_²’ BË`ñ` {dbmo_nX§ {H$_² ?    

 (i) pñWaVa_²    

 (ii)  nm{nZm_²   

 (iii) Xþ:I_²   

 
 

13. AYmo{b{IV§ ZmQ>çm§e§ n{R>Ëdm àXÎmàíZmZm_² CÎmam{U g§ñH¥$VoZ {bIV & 

 {ZåZ{b{IV ZmQ>çm§e H$mo n‹T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| {b{IE & 

 Read the following drama passage and answer the given questions in 

Sanskrit. 6  

H$mH$: – ao na^¥V ! `{X Vd gÝVqV Z nmb`m{_ V{h© Hw$Ì ñ ẁ: {nH$m: ? AV: Ah_od 

H$éUmna: n{jg_«mQ²> H$mH$: &  

amOh§g: – emÝV§ nmn_² & Ah_od Zrajra{ddoH$s n{jUm§ amOm &  

~H$: –  {YH$² `wî_mZ² & Ah_od gd©{eamo_{U: & (VV: à{de{V àH¥${V_mVm)  

àH¥${V: – (gñZoh_²) Ab_² Ab§ {_W: H$bhoZ & Ah§ àH¥${V: Ed `wî_mH§$ OZZr & `y`§ 

gd} Ed __ {à`m: & gd}fm_od _hÎd§ {dÚVo `Wmg_`_² & gd£: Ed _o  

emo^m & Z VmdV² H$bhoZ g_`§ d¥Wm `mn`oV & {_{bËdm Ed _moXÜd§ OrdZ§ M 

ag_ §̀ Hw$éÜd_² &  
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(A) EH$nXoZ CÎmaV & (Ho$db§ àíZÛ`_²) 

EH$ eãX _| CÎma Xr{OE & (Ho$db Xmo àíZ)  

 Answer in one word. (Only two questions)  1 2=2  

(H$) {nH$ñ` g§VqV H$: nmb`{V ?  

(I) H$: AmË_mZ§ ‘Zrajra{ddoH$s’ B{V H$W`{V ? 

(J) AmË_mZ§ ‘H$éUmna: n{jg_«mQ>²’ B{V H$: H$W`{V ?  

 

(~) nyU©dmŠ`oZ CÎmaV & (Ho$db§ àíZ_oH$_²) 

nyU©dmŠ` _| CÎma Xr{OE & (Ho$db EH$ àíZ)  

 Answer in a complete sentence. (Only one question)  2 1=2  

(H$) gd£: Ed H$ñ`m: emo^m dV©Vo ?     

(I) g_`§ d¥Wm H$W§ Z nmn`oV² ?   

 

(g) àXÎm{dH$ënoä`: C{MV_² CÎma§ {MËdm {bIV & (Ho$db§ àíZMVwîQ>`_²) 

{XE JE {dH$ënm| _| go C{MV CÎma MwZH$a {b{IE & (Ho$db Mma àíZ)  

 Choose  and  write  the appropriate answer from the given  

options. (Only four questions)  
2

1
 4=2  

 (H$) ‘H$éUmna:’ B{V H$ñ` {deofU_² ?   

 (i) ~H$ñ`   

 (ii)  H$mH$ñ`  

 (iii) amOh§gñ`   
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 (I) ‘Ah_od gd©{eamo_{U: &’ AÌ ‘Ah_²’ B{V gd©Zm_nX§ H$ñ_¡ à`wº$_² ?   
 (i) amOh§gm`     
 (ii)  ~H$m`   
 (iii) H$mH$m`   
 

 (J) ‘nañna_²’ B{V nXñ` g_mZmW©H§$ qH$ nX§ ZmQ>çm§eo à ẁº$_² ?   
 (i) gd}   
 (ii)  `wî_mH$_²    
 (iii) {_W:   
 

 (K) ‘gd£: Ed _o emo^m’ AÌ ‘_o’ gd©Zm_nX§ H$ñ_¡ à ẁº$_² ?    
 (i) ~H$m`      
 (ii)  amOh§gm`   
 (iii) àH¥$Ë`¡    
 

 (L>) ‘nmb`m{_’ {H«$`mnXñ` H$V¥©nX§ {H$_² ?    

 (i) H$mH$:   

 (ii)  amOh§g:  

 (iii) Ah_²    

14. aoIm{‘>VnXm{Z AmY¥Ë` àíZ{Z_m©U§ Hw$éV & (Ho$db§ àíZMVwîQ>`_²) 

 aoIm§{H$V nXm| Ho$ AmYma na àíZ {Z_m©U H$s{OE & (Ho$db Mma àíZ) 

 Frame the questions on the basis of underlined words. (Only four 

questions) 1 4=4 

(i) H$mo{H$b: _Yw_mgo Am_«d¥jo pñWËdm Jm`{V &  

(ii) àH¥${V: gdm©Z² OrdmZ² ñZohoZ n[anmb`{V & 

(iii) ^JdX²JrVm _hm^maVñ` A§e: ApñV & 

(iv) MÄMb§ _Z: Aä`mgoZ de§ ^d{V &   

(v) Ë`mJg_§ gwI_² ZmpñV &  
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15. _ÄOyfmV: g_w{MVnXm{Z {MËdm AYmo{b{IVíbmoH$`mo: AÝd`§ nya`V & 

 _ÄOyfm _| go g_w{MV nX MwZH$a {ZåZ{b{IV XmoZm|  íbmoH$m| Ho$ AÝd` H$mo nyU© H$s{OE & 

 Complete the prose order of the following two shlokas by choosing the 

appropriate words given in the box.  
2

1
 8=4  

(H$) AdH«$Vm `Wm {MÎmo VWm dm{M ^doX² `{X &  

 VXodmhþ: _hmË_mZ: g_Ëd{_{V VÏ`V: && 

 AÝd`: –  

 `Wm {MÎmo (i) _________ VWm `{X dm{M (ii) __________ & (iii) ___________ 

VÏ`V: VXod (iv) __________ B{V Amhþ: &   

(I) na_mnX²JVoZm{n Z¡d VmV Ëd`m aUo &  

 BX_ñÌ§ à`moŠVì`§ _mZwfofw {deofV: &&  

 AÝd`: –  

 VmV ! na_-AmnX²JVoZ A{n (i) _________ aUo BX_² (ii) __________ {deofV:  
(iii) ___________ Z Ed (iv) __________ & 

 
_ÄOyfm 

 

 

 

16. AYmo{b{IVmZm§ H$WZmZm§ g_w{MV§ ^md§ {dH$ënoä`: {MËdm {bIV & (Ho$db§ àíZMVwîQ>`_²) 

 {ZåZ{b{IV H$WZm| H$m g_w{MV ^md {dH$ënm| _| go MwZH$a {b{IE & (Ho$db Mma àíZ) 

 Choose and write the correct gist of the following sentences from the 

given options. (Only four questions) 1 4=4  

(H$) na_h_² AIÊS>: ‘emídV:’ {d^w: M &  

(i) {eewdV²  

(ii) {ZË`:   

(iii) gmañdV:    

       g_Ëd_², _hmË_mZ:, ^doV², AdH«$Vm, à`moº$ì`_², AñÌ_², _mZwfofw, Ëd`m &  
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(I) ‘néfm§’ dmM§ Z Aä ẁXra`oV² &  

(i) _Ywam_²  

(ii) Jd©`wº$m_² 

(iii) H$R>moam_²   

(J) g: gË`oZ nm{UZm MH«$_² J¥hrVdmZ² & 

(i) hñVoZ   

(ii) nmXoZ  

(iii) XÊS>oZ    

(K) gå`H$² A{^kmV_² &  

(i) g_mZê$noU  

(ii) dñVwV:  

(iii) gwîRw>ê$noU    

(L>) gd©ñVaVw XþJm©{U &  

(i) {d¿Zm{Z  

(ii) ^dZm{Z  

(iii) _pÝXam{U  

 


